
6049 6049.5 6050 6050.5 6051
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6357

6357.5

6358

6358.5

6359

6359.5

6360

6360.5

6361

ru
n

run:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6359}



6049 6049.5 6050 6050.5 6051
cyclenum

88.5−

88−

87.5−

87−

86.5−us
l_

1X
usl_1X:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

us
l_

4a
Y

usl_4aY:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

60.5

61

61.5

62

62.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

38.2

38.4

38.6

38.8

39

39.2

39.4

39.6

39.8

40

40.2

40.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

34−

33.5−

33−

32.5−

32−

us
l_

12
X

usl_12X:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6357

6357.5

6358

6358.5

6359

6359.5

6360

6360.5

6361

ru
n

run:cyclenum {run == 6359}



6049 6049.5 6050 6050.5 6051
cyclenum

113−

112.5−

112−

111.5−

111−us
r_

1X

usr_1X:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6−

5.5−

5−

4.5−

4−us
r_

4a
Y

usr_4aY:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

151

151.5

152

152.5

153

us
r_

4e
X

usr_4eX:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

47

47.5

48

48.5

49

us
r_

4e
Y

usr_4eY:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

36.4−

36.2−

36−

35.8−

35.6−

35.4−

35.2−

35−

34.8−

34.6−

34.4−

34.2−

us
r_

12
X

usr_12X:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6357

6357.5

6358

6358.5

6359

6359.5

6360

6360.5

6361

ru
n

run:cyclenum {run == 6359}



6049 6049.5 6050 6050.5 6051
cyclenum

17722

17722.2

17722.4

17722.6

17722.8

17723

17723.2

17723.4

17723.6

17723.8

17724

17724.2

us
l_

co
il1

usl_coil1:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

3580

3580.5

3581

3581.5

3582

us
l_

co
il3

usl_coil3:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

7367

7367.5

7368

7368.5

7369

us
l_

co
il4

usl_coil4:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

1665.5−

1665−

1664.5−

1664−

1663.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

13545.6

13545.8

13546

13546.2

13546.4

13546.6

13546.8

13547

13547.2

13547.4

13547.6

13547.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6357

6357.5

6358

6358.5

6359

6359.5

6360

6360.5

6361

ru
n

run:cyclenum {run == 6359}



6049 6049.5 6050 6050.5 6051
cyclenum

13873.4−

13873.2−

13873−

13872.8−

13872.6−

13872.4−

13872.2−

13872−

13871.8−

13871.6−

13871.4−

13871.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

2475−

2474.5−

2474−

2473.5−

2473−

us
r_

co
il3

usr_coil3:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

8591

8591.5

8592

8592.5

8593

us
r_

co
il4

usr_coil4:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

1794−

1793.5−

1793−

1792.5−

1792−

us
r_

co
il6

usr_coil6:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

15886.6

15886.8

15887

15887.2

15887.4

15887.6

15887.8

15888

15888.2

15888.4

15888.6

15888.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6357

6357.5

6358

6358.5

6359

6359.5

6360

6360.5

6361

ru
n

run:cyclenum {run == 6359}



6049 6049.5 6050 6050.5 6051
cyclenum

444.5−

444−

443.5−

443−

442.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

71−

70.5−

70−

69.5−

69−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

20

20.5

21

21.5

22

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

476−

475.5−

475−

474.5−

474−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

20

20.5

21

21.5

22

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6359}



6049 6049.5 6050 6050.5 6051
cyclenum

172.6

172.8

173

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

36.5

37

37.5

38

38.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

183

183.5

184

184.5

185

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

26.5−

26−

25.5−

25−

24.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

7−

6.5−

6−

5.5−

5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6359}



6049 6049.5 6050 6050.5 6051
cyclenum

242.8−

242.6−

242.4−

242.2−

242−

241.8−

241.6−

241.4−

241.2−

241−

240.8−

240.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

82.5−

82−

81.5−

81−

80.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

2.5−

2−

1.5−

1−

0.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

434.8−

434.6−

434.4−

434.2−

434−

433.8−

433.6−

433.4−

433.2−

433−

432.8−

432.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6359}

6049 6049.5 6050 6050.5 6051
cyclenum

6357

6357.5

6358

6358.5

6359

6359.5

6360

6360.5

6361

ru
n

run:cyclenum {run == 6359}
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